



Cavendish Model (1L10.20)

Location: 13-6R
Concept/Purpose: Universal Gravitational Constant

Procedure/Explanation: This demonstration is simply a large model of the apparatus Cavendish used to measure the gravitational constant. It is not a working model. The model uses two bowling balls for the large masses and two Styrofoam balls mounted on a wooden dowel for the small masses. The wooden dowel is mounted on a ring stand so it is free to rotate. See the picture if you are not familiar with Cavendish’s device. 

